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’I points (0,0) and (1,7), where ris the unit rate, will always appear on the line representing two quantities that

are proportional to each other.
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} * Theunitrate, 7, in the point (1,7) represents the amount of vertical increase for every horizontal increase

of 1 unit on the graph.
* Thepoint (0,0) indicates that when there is zero amount of one quantity, there will also be zero amount of

These two points may not always be given as part of the set of data for a given real-world or mathematical situation,
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the second quantity.
but they will always appear on the line that passes through the given data points.

1. Thegreph to the right shows the relationship of the Jaguar's Speed: Time and Distarice
amount of time (in seconds) to the distance (in a0

feet) run by a jaguar. B
020 » (10, 580)

a.  What does the point (5,290) represent in the
context of the situation?

b.  What does the peint (3,174) represent in the
context of the situation? 300 . 290)

Distance (infeety ~ 400

c. Isthe distance run by the jaguar proportional 56
to the time? Explain why or why not. (3.174)
. " . 100 J/
d. Write an equation to represent the distance L/(Lssy
run by the jaguar. Explain or model your 00 T - =
reasoning. Time (in seconds)

2. Championship t-shirts sell for $22 each.
a.  What point(s) must be on the graph for the quantities to be proportional to each other?
b.  What does the ordered pair (5, 110) represent in the context of this problem?

€. How many t-shirts were sold if you spent a total of $88?

a6 Car Rental Fee
: T
3. The graph represents the total cost of renting a car. The cost of 350 Jm- - %8375
renting a car is a fixed amount each day, regardless of how F 300 |— : —_—
many miles the car is driven. 3 250 T O
a.  What does the ordered pair (4,250) represent? Lg—'z‘” I T )
2 150 =
b.  What would be the cost to rent the car for a week? £ g *2,125
. ; 100 | -
Explain or model your reasoning. . 5 v1,625 e
0 0,0
o 2 a 6 8
Number of Days
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s of Peanuts

3 5
4 2
3 it an enuztion to represent this relztionship.
b.  Desunbethe ordered pzir (12,24 in the contest of the probiem,
5 The follownng table shows the amount of cardy z2nd price psid.
Lmount of Czndy (in pounds) Z 3 5
Cost (indollzrs) 3 7.5 i25
2. lothe cost of the czrdy proportionzl 1o the amount of candy?
b, Write an ecuztion to illustrzte the relztionship between the zrrount of candy and the cost.
c.  Uiing the ecuation, predict how much it will cost for 12 pounds of candy.
s Mzt ic the mmarimum zrmount of czndy you czn buy with $607?
e, Graphthe relztionship.
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